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Chapter 1

For Exercises 1-12, choose the correct letter.

1. The total cost for fair tickets for a family equals the number of adults at
$4.00 each plus the number of children at $2.00 each. Which equation
could be used to model this situation?

AT =4a + 2 B. C=2a+ 4¢ CT=4da+c D. 7 = 4{a + 2¢)

2. Simplify 18 + 3(16 + &) - 5.

A. 21 B. 48 C. 120 D. 210
3. The opposite of —15 is which of the following?
A. 15 B. 51 & D. %
4, Simplify (—2)°.
A.8 B. 6 C. -6 D. -8
5. Simplify 4(—3)2 + 6.
A.22 B. 42 C. 144 "D -3
6. Which of the following is equivalent to x - %?
Al B. 2 C 5 D.y-1
7. Which of the following is true?
1.1 | 1.1 Lol 1.1
. A'5<6 B. 5>6 C 6<% D.6 3
g
3 8. Evaluate 3(x> — 5x) + 6forx = 3. _
@D
@ A.0 B. 36 C 4 D. 87
=
)l
= 2(x* + 18
= 9. Evaluate~(xx—)forx = 4 _
g A 17 _B.11 C. 85 D. 68
g
S
5 10. Simplify |18.4 — 32.1].
g A. 137 B. 137 C. 233 D. 4.3
C
Q .
% 11. Which of the following is a rational number? :
5 Az B. V7 c 4 D. 0.666666 . ..
12. Evaluate |p| — [3q]|forp = ~2and g = 3.
A 11 o B. 7 C. -7 D. 11
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Chapter 1

i
For Exercises 13-16, compute the answer. ' : a |
\

_ =
13. Evaluate T E forx = 3.

14. Simplity —23 — (=32).
15. Evaluate 6xy + :%forx =4andy = 3.
16. Evaluate |3d + 4| ford = —9.

Use an equation to model the relationship in each table.

17. [Number of| Total
Items Cost
i $1.50
2 $3.00
3 $4.50
18. Hours Hours
Worked |Remaining
1.5h 6.5h Ay
3h 5h
45h 35h

Find the sum or difference.
67 —2.6 —-33 29
19. +

3.5 —-L17 -02 11
6 5 -5 2
20, -7 1|~ |-8 1
-3 8 4 —6

21. Open-Ended Write 5 different numbers that together have an average
of —12. Explain how to find the average of the 5 numbers.

22. Writing Explain the error in the work shown below. Give the
COITECt amSWer.
4+ 3x—-T)=Tx—-17)
=T7x — 49
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